2 v 3 e W > , 2}
1128 F R % 2 52 /Fﬁ""ﬁp-;r—%yfﬂié}?
113.02.06
- ¥ g F - B
S~ FFEp Y 2/25(;)
ER =
HEq 2/20(= )
g 8:|10 9:|10 1oi10 11i10 13ioo 14i00 15i05
BRER 9:00 10:00 11:00 12:00 13:50 |14:50|15:55
TH 1 2 3 4 5 6 | 7
BISR 111-112 | It B AR(ERD | &Rt 3iTFh A ER EH L3R -
FEZEFRL 115-116 AL BRI S T L i L
HEq 2/20(= )
N 8:|10 9:|10 10i10 llilO 13i00 14i00 15i05
B4R 9:00 10:00 11:00 12:00 13:50 |14:50(15:55
TH 1 2 3 4 5 6 | 7
BIEFRL 211-212 | i RHER KR B EGERD) (BEEG@TRD) G518 | Exrs
BEERRl 213-214 | EISC4RHEES F# F# i E# 3% Far: F# 3%
FEZER} 215216 | BUURHRER | =3EEE | FREEREERE| EXFE % LR
Logalsrl g p (3240 - T3FF - RF AR FF AR TA0R] BAEZFL -
TRGHAEET - FPHBT I EES RS P T RIIEEFREILE Y BRI
S il
P i FLB 3R R
w 115-116 FXAF - P D
b QL S 115.116 1 e p 1~4
¥eid 215.216 4U # % 3 i+ Ch14( 2 :ch14-1-ch14-6)
&R 215.216 ALL+2 * ix(2) 7 # < B4
dRERB Y T | 215-216 Les Miserables -] #.> (7 8% H)
B P 211.212.215.216 | #i=f g * () 1-1~3-3
g3 F(EA) | 111112 42 CH1-CH6 = 47 4% ~ CH7-CH8 = 24 4%
€ -5 (L) 111.112 TS LR RS
g3y 211 B E e T
¢35 212 chi~ch5
eI 211.212 3 i¥ chl~ch10
REEa(E#) | 211212 10 p 7~11
B F £7x(ift) | 211.212 FRORARR o e W R Hip v
B2 St f Y 213.214 B AR B g




